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a. The EOC) model trades off arder costs vs. carrying costs.
b. Safery stock compuiations trade off slockour costs vs. carrying cosls.
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{6) g FHFENHEA [a] NPV ( Net Present Value ) 7E [b] IRR ( Internal Rate
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(13 Lane Co. procluces muin products Kol and W, The process also yields by-product Zef. Net
realizable value of by-product Zef s subtracted from joint prodection cost of Kel and W,
The following intormation pertains W producticn o July 2000 at a joint cost of $54,000k
product Unats produced Marker value  Addinonal cost d[lLl split-off
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kel LA 540,000 50
Wu 1,300 33,000 y
Let S0 1000 3,000

[f Lane uses the net realizable value method for allocating joint cost, how much of the joing
cost should be allocated to product Kul?
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(21 The Polly Co. wishes to determane the amount of safety stock that ot should maintain for
Praduct D that will result in the lowest cost, The following information is gvalable:
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Steckout cost $30 per cccurrence
Carrying cost of safety stock $2 per unit
Mumber of purchase ordars 5 per year

The available optidns open w Polly are as Tollows:
Units of safety stock __P“ml:mbili[y of runming ot of safety stock

1< 30%
20 Al
30 3%
40 2%
50 105
55 3%

The number u::uf umtq m safety stock that will resull i the Jowest cost are?
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[ 3) Bimey Co.s p]anr'm;h 11§ :1d*.r|:1[|:-. ng campaign or 2000 and has pr bn.uul ”"IL fallowime
budget data based on a zero advernsing expendiure:

Mormal plant capacity 200,000 wruts
Sales 1 50,000 apats
Selling price £25.00 per unit

Vanable manufacturing costs 51500 per unal
Fixed costs:
banufacturing 200 000
Sales and adminisuative $700, 000
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An adverusing agency clims that an aggressive advertising campaizgn would enable Bimey
1o increase 15 unit sales by 20%.  What s the maximum amount that Birney can pay or
advertising and obtain an operating pr nﬂ[ ol ! EI:E[]{} A0
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(43 Kapling Co. invested m an 8-vear project. 1t 15 expected 1hat the ann ual unh flaw {rom the
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progect, net of income laxes, will be 320,000, [nformation on presem value faciors is as
tollows:

Present value of §1 at 2% for e1ght periods 00404

Present value of an ordinary annuity of $1 4t 12% for eight perods 4 964
Assuming that Kipling based 1ts investment decision en anomlermal rate of retern of 129, how
much did the project cost?
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(57 The following standard costs pertain to a component part manufaciered by Ashby Co.

[ I

Direct materials 32
Direct manufactunng labor b

Factory overhead 20
standard cost per unit’ 2

Factory overhead 1s appled @1 §1 per standurd machine hour.  Fixed capacity cost 15 60% of
appled factory overhead, and is not affected by any “make or buy” decision. [t would cost
$45 perunt 0 buy the part from an outside supplier.  In the decision (o “make or buy,” wha
15 the 1otal relevant unit manufaciunng cost to be considered?
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fﬁ + Paulson Company had inventories at the beginning and cnd uf lEi"J'EI' as follows:

1o 12/31/9%
Raw materials $55,000 565,000
Work in process Q6,000 80,000
Finished goods 50,000 B3 00

During 1999 the following costs were incurred:

Raw materials purchased $400,000
Direct manufacturing labor payroll 220,000
Factory overhead 330,000

Paulson's cost of goods sold for 1999 was"
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{7 Dex Co. had the I‘ullﬂwmg prﬂdﬁﬂtlun fur the month of June:

Units
Work in process at June 1 10,000
Started during June 40,000
Completed and transferred w [inoshed goods 33,000
Abnormal spoilage incurred 2,000
Wark in process at June 30 15,000

Materials are added at the beginning of the process.  As to conversion cost, the
bepinning work in process was 70% completed and the ending work in process was 6%
completed.  Spoilapge is detected at the end of the process. Using the weighted-averape
method, the equivalent units for June, with respect to conversion cosl, were!




